SECOND YEAR HIGHER SECONDARY EXAMINATION
Part - 1l
ECONOMICS
Maximum : 80 Scores
Time : 2.30 Hours
Cool off time : 15 Minutes

General Instructions to Candidate:-

There is a 'Cool off time' of 15 minutes in addition to the writing time.

use the ‘cool off time' to get familiar with questions and to plan your answers.
Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non programmable calculators are not allowed in
the Examination Hall.
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Answer any Eight questions from 1 to 10. Each question carries One Mark

1.

“The General Theory of Employment, Interest and Money” was written by............
a) Alfred Marshall b) Adam Smith c) J M Keynes d) None of these

Price Mechanism is the feature of ......... economy.

a) Socialist b) Mixed c¢) Market d) Planned

The slope of the Indifference Curve is .................

a) MRS b) MOC c¢) PPC d) None of these



4. Inthe Perfectly Elastic Demand, the value of elasticity is ...................
a) Zero b) Infinity c¢) Greater than one d) Less than one
5. Narrow money measures in India are ....................
a) MI&M4 b) ML&M2 c¢) M2 & M3 d) M3 & M4
6. IfC=50+0.8y,thevalue of MPSiis ......
a) 50 b)0.8 ¢)0.2 d) 1
7. Price Floor is the policy of fixing ........... limit to the price of a commodity by the
government.
a) Upper b) Lower c) Upper and lower d) None of these
8. Borrowing by the governmentis a ......................
a) Capital receipts b) Revenue receipts c¢) Capital Expenditure d) None
9. Fixed Costexistsonlyin .......ccccceeeeeennes period
a) Long b) Short c¢)both a&b d) None
10.Invisible items of international trade are included in ............
a) BOT b) BOP <c¢) Botha&b d) None of these
Answer any Four questions from 11 to 15. Each question carries Two Marks.
11. Distinguish between Cardinal Utility and Ordinal Utility.
12. Classify the following into Stock and Flow.
Expenditure, Money supply, Inventories, Capital formation
13. What do you mean by Liquidity Trap?
14. Distinguish between Short run and Long run in the production function.
15. Write two relationship between TP and MP
Answer any Four questions from 16 to 20. Each question carries Three Marks
16. Write a short note on the emergence of Macroeconomics.
17. What were the drawbacks of the Barter system?
18. Which are the three linkages of an Open Economy?
19. Complete the following diagram and identify the real flows.
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20. Discuss the objectives of government budget

Answer any Four questions from 21 to 25. Each question carries Four Marks

21. Diagrammatically explain the Optimal Choice of the consumer.



22. In a perfect competitive market the supply of a firm is determined by several factors.
Discuss.

23. Bring out the difference between Primary Deficit and Fiscal Deficit.

24. Write a short note on each account of BOP.

25. What are the basic problems of an economy? How is it solved in a planned

economy?

Answer any Four questions from 26 to 30. Each question carries Five Marks

26. With the help of diagrams explain the conditions for profit maximisation in a perfect
competitive market.
27. If autonomous consumption expenditure = 50, autonomous investment expenditure
= 10, MPC =0.8,
a) Find out equilibrium income
b) If autonomous investment rises to 20. Find out the change in equilibrium
income.
28. Explain the effect of following changes on equilibrium price and quantity
a) Leftward Shift in demand and Rightward shift in supply.
b) Both demand and supply shift rightwards.
29. If GDP at MP = 6500,
Consumption of fixed capital = 500, Indirect tax = 300, Subsidy = 200, Factor
income from abroad = 400, factor income to abroad = 600,
Find out:-
a) NDP at FC
b) GNP at MP
c) National Income
30. What do you mean by monetary policy? Discuss three monetary tools to control

inflation and deflation.

Answer any Two questions from 31 to 33. Each question carries Eight Marks

31. IfP1=10,P2=20, M =60
a) Write budget line equation
b) Find out horizontal intercept
c) Find out vertical intercept
d) Draw a budget line.
e) find out the slope of budget line

f) Show the change in budget line, if income changed to Rs 80.



32. Which are the three methods of measuring National Income? Explain any two
methods.
33.The following table shows the TC schedule of a firm. Complete the table and draw

TC, TFC and TVC curves on the same set of axis.

Units of TC TFC TVC AFC AVC SAC SMC
Output

0 10

1 30

2 45

3 55

4 70

5 90

1 goad 10 cieeQes caaciErglad mime agomesiaje 8 afffRe ag@s:. 6060 G.alEKOIR. B
20368 alloe
1. 0®o9I®d, alemo, alellve af)MlUeRER0l 488 ald® MIRLIME af)M WMOe allgy® ............
@6 .
a) PO 2B D) BRI C) 62 af OBOMBMY  d) spaeedaRRgY
2. allel meQllwomMo ag)M@ ..cevvvvverreerrrnnnss QS MLQIEUBUEI6ENY
a) eavoadyellmy cvaud agairun b) dlgy avmid aigaicun C) Gemiog aumid QI
d) @pmy@sem mumid aiyaimun

v

3. dlen® QI@oIOM a@lal.............. @6
a) MRS b) MOC c¢) PPC d) saewomasg)

4. oJBem eaiomfle: ¢alEMOBTITE DRIOTYGMQROS GEIK .vvveeerrereeriree. @6
a) ojmpe b)) emBadlaidl C) smm aso@ d) emlad soaf

5. ayieal Mgl aleMOBIOMR GRBAYBEIE ...veeirereeiiriree e,
a) M1&M4 b) M1 & M2 ¢) M2&M3 d) M3 & M4

6. C=50+0.8Y ereemslad MPS e gaie ................. @6 .
a) 050 b) 0.80 c¢) 0.2 d 1
7. ©0 allel agan@ TLOWMEREeS AlRIRIBd VAUEEMA ... alelw] mlvniilesom ey

a) 2dm@ b)) mogw C) 2ABM®. mIgm. d) aewomag
8. @S0 QU0EERM NAUMBOARIOM ....vvevrieiriieninee, @6 .

a) Qeiwm a@adm. b) OQIMY QIGBRIMo C) gawm earial d) saewomag



9. cudle e.alLIne:ud MlRIMI@MERMM@ ... BRI @16
a) dldealc D) @V C) af Qo 6nil e d) Mae@ITEMERL
10. @RO®EIUS Ql~IDEOBIOA! «;‘roguagmagmu& DIVIOLY CTesplco) S @161
a) BOT b) BOP C) ag @oenl e d) swaewomomong
11 goad 15 aieeQes 6anciunglad mimoe agomesliaj 4 af)ffRe a gD, 60600 G.alELOMIe 2
20385 Qllo
11. ®08culmmd gleldlge sodallmad gleldlg. maleiss QmPTe af) §Dd:.
12. 969 al0QMAIOW GRS , alE8I af)MINIWOIW] ME. @GlERE:
a) eaeiaf D) aem@eom. C) smeaddlewd  d)gaiwm @alle:eeme
13. agamoe elleslalgl Soal @06 milearud @od@mNadERmM@ ?
14. pejpamomleal @omuis:oak Gldaalsoale aaTial @aZlg)Ss QImOTVe af Do
15. ®200m0 9@ alme MIR00D D@ altMo af)MIQ @ile|8s @6Ng NIMWEERUS af) DD
16 o 20 eeWSs 6aEKEREITd MM age®mBiaje 4 af)ffRe a R, GIGEO G.alBOBIM. 3
2038 afloe
16. cruger cvomiosle wIrETile @vAldeIAOO® &:0lal B3 alea) &Cla] QOB
17. ageamejomsm enodsd ru@IBIROBTIEONR Gald@IQPHud ?
18. 8@ @omm cumiBaiITIin qyUleam gam @ee ENIMWEBBUS a@al ?

19. gjaes ©6:050mIGlEBM 2ll@o ad@laflal @INOB®N @QINERUE @IE]4IClQE:

20. naeem@ sniwRdle® aleueRud @olaolQ)s:.

2] go@ 25 QeSS 8aaiEREed MM cge®mElaj 4 afffRe e D, GG G.alBOIIMR. 4
203« afloe

21. paleeosmoaie me@almoaimun al@gale@ouilsl allaiclese

22. avmydem &lsacrue GEMIISOINIGE 6@ MUNIAIMOBTIONR JBIMAG MIReMWIlErea|gamdy

WIS AISHEEREBRIN6M . QlQIGlER:

23. @o100lls S0l WMEniQe ®ERlR)8s QMM af) LD

24. @psq)udley GREDENEIDMERC] 4] 8@ 21 H:0la] ) §DH:.

25. 8@ vmMIE QIQITVOQES @BSITLNIM @URERUY AfHINIOEOWIETN ? BT BRIY@EM MLMIG

QQITLNWIE3 EDAI ag)EROM®IET alBla0@lEReAIgM@ ?



26 go@ 30 eEWEs salaiEREltd mim. cgamela 4 af)§fRo AR, GI6EI GalEKTIIMR. 5
20368 afloe
26. rumydem HlsacrLECEIES BG3 MLNIAIMOBTIOM® A10Re alEAIAIWIILHIMSS MINIMWM B0
gﬂ@mgas MVANIWECOMINS QlQIGIERD:.
27. 60653066MoaY ©ale@Ie = 50, &0eg0emamy mlestale = 10, MPC = 0.8 @resmaslad
a) muael® QIBEIMe &eMallslesdd:
b) &oegoemamy mlestiale 20 @] aidwlesemidud cmugpelm AimAIMETIeal Q0
BOTRIDS
28. ©26¢ aloQmm @0QeRud mumalm allaisge. muapei®m @egalem®e ageEREM NIDWIEBITD
a0’ allaicles s
a) EalBMAIG. PSECOmIFo IBIMNAUGe AURIGOMIFe AIQM.
D) calEMUGA IBIMAUG QARICOmOT AIQM.
29. GDP at MP = 6500 ,qudlegeiwm 9a1eeowe = 500 ,alceoss Mle:al = 300 , avepflaw] =
200 , alleszregmmlme aidlesmm caiss aimadm. = 400 , alledrcrmEnss ~aISd QAIMAIMe =
600 @ereemead ,
a) NDP at FC
b) GNP at MP
C) erWl QImBIMs ag)MIQ! EeMEallslend,
30. alem M@o OB6ME agimIEM (FlEERUY @PA@MOBIEBIN® ?  alfME@affo , al6M.oGEHo
TlOOPEHIMSS P ol MW Oald:E6M6BRU3 QllIGlEBD:.
31 govad 33 WSS GalEIREITd MM agemBsliaj 2 af)fRe aDo:. 06RO G.alEKOII. 8
20368 afloe
31. P1=10,P2=20, M =60 @owom3,
a) enmg OERIM TY@AUIBK0 afEDe
b) ®anodleavoeR@ DAEMVAIG Bengallslens
C) 6dslenad DRBOMVAIY &6 allslene
d) enmg eeaimd aeese,
e) nxng eeamlon adlal GeMmRIDe
f) camaom. 80 @awowl aiduwlesemidnud snimg esaimleal 20Qe all@leclesde
32. eRUW QIMRIM. @OSEHIMES PN BlOIBU3 aBO®IOEWIN ? o@eO®®:Iaj @6Ng GlTIE:ud

alluEless:.



33. 8@ MLUNIMOTIOM HROTo 2llRIAl alSld: 4QIOS BBIFERMD , algld oydlaflal TC, TFC, TVC

QUGEBRUE BEO GROBUOTRICS AUCR D

Units of TC TFC TVC AFC AVC SAC SMC
Output
0 10
1 30
2 45
3 55
4 70
5 90
PARTICIPATION OF MODEL QUESTION PAPER SETTING
SLNO NAME & DESIGNATION OFFICIAL ADDRESS
1 VINODAN C, HSST ECONOMICS MEMUNDA HSS [10054]
2 ABHILASH P, HSST ECONOMICS RNMHSS NARIPPATTA [10176]
3 JAYARAJAN CK, HSST ECONOMICS | VADAKKUMPAD HSS PALERI [10162]
4 PRABEESH SEBASTIAN, HSST AJIMHSS CHATHANGOTTUNAADA [10157]
ECONOMICS
5 SAJEENA KV, HSST ECONOMICS EMJAY VHSS VILLIAPPALLY [10195]
6 BAVITHA N, HSST ECONOMICS NATIONAL HSS VATTOLI [10068]
7 SHANEESH PERUVANAKUNNATH, VADAKKUMPAD HSS PALERI [10162]
HSST ECONOMICS
8 VINODAN A, HSST ECONOMICS GHSS VALAYAM [10014]
9 RATHEESH C, HSST ECONOMICS MEMUNDA HSS [10054]




